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Instructions
* Answer ALL questions. Write your answers in the spaces provided.
* Show your working to get marks. You may use a non-programmable scientific calculator.

Question 1
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Work out what each of the bricks at the bottom simplify to, then add the two bricks next to each
other to give the brick above them.
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Identify the value of y for the following equation given x = 1
3x—y=—(x—-2y)+5
Z2M—Y= = — (\=2Y)+5 '
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)

cLog, C3 3S—Y = 2y+4 =M [3mark
You wish to receive an annuity of RM1000 a quarter for 5 years. The quarterly interest rate is
2.5%. What is the present value of the annuity? = 4-3Yy —— =
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Question 4
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Question 4

CLOZ, C3

[3 marks]

You wish to receive an annuity of RM1000 a quarter for 5 years. The quarterly interest rate is

2.5%. What is the present value of the annuity?
Use the formula PV = P X %
In this case, P = 1000,n =5 x 4 = 20,r = 0.025

— -20
Therefore, PV = 1000 X % (1 mark)
B 1-0.61027... '
= 1000 x e (1 mark)
= 15589.162 ... (1 mark)

So, the present value of the annuity is RM15589.16



